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BF; uRl W2ict o2l vdi 3ikis af3 ad 8 a i\iH3 A1 uBa 52 8. ugd ou w2 a1 8 ? BF; a

i\iH3 dRA S2AL USIol) GiEél Gldd © ?

N

BF; $asgin Qauaudil et 8 2 dell g 2R adly ad 9. NH, Wi sl ds8i1you &, ¥ BF,A
Ul waol deidlys oln A 8. 2l NH, qdu dde ails ad o,
H,N : - BF,

HCloi weilii aucilszel ol yve 8 : HCI
A izl ks v Aena eald.

)+ Hzo(l) = H302’aq) + CL; ) il AJRicilsel ulsami

(aq (aq

+ _
HCl ;) + H,0() = H3 Oy + Cliag)

2R 6l 2iyomify ]~ AY MO
L U2l HId 9.

A il ellwed AR o ¢ld AR d-dl AL eldy [Roln €ld 8, dHy AP 6l uea gld AR dlil-

ollwes 2R Mol €l 8. A dd A4y ARHE 205 WS auiidl €ld 9 A els 0yl oSl 218

Uizl il sld 9.

viisei wvdla giaer [Gfdei asel 53 asd oell. uiq NaClei wvdlugiaer [Addei s s?l As . dRcilsen

Rigia vl a1 [Genst Sdl A AHval ? NaClell giaepii Aigdl 21 A Sdl A Ricia ad & ?

alsredAl Rgid 3ot v [t q3odl gsd. d GuRid NaClHl digdidl >yl 12 3o 14w asiy.

(i) wis [Agd »lasuwy (nondectrolyte) 9. dd uwellmui »ia-dls2e ag el swz NaCld wdly giaml
diyel dudlszer A © i Nat »i CloHsd 2l 9. 20 20dnl dlodatendl aeddi Hee sv 8.

(ii) @02 NaCl-dl gldimi qtizl 2y iR Na® i CLo2ided 9y HHIesl 3sd a9, el giaesi
wdidiAl ay Aigad dld qasHdl aesdHl a4l iy 9.

[cicin Qe (MOH)ol dirRicilsel dRAMISe] 3R oilRloll eilselcll Guadlar séla el asia D.

K. = [M*][OH]

b [MOH]

Seais ool iRisdi diRicllsel BRINISC [Blad  diudia RN A yvor B :

Qg siafengda- aRau [S)a1 Alst2n
AMigol
K, | 5.4x107*[1.3x10714(1.77 x 1079 1.77 x 1075

Guz e2ldal Gedell JiRiclsel JRANISH Yl Glddl sHHi dNsdl. AMeail agy uoindl &Riadl Agy sAl
9 7

N . .. . . _ [M*][OH™]
[efa Az (MOH)q, 2dlsza sanisd e (dglaa Bal)u K, = ~IMOH]

wia-lszel 2aqis (Kpd et &4 G4 ad suasllszer ag s © it ddadl ueoldl e auy qigy 43 6.
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Gurl AdAHL ssBrandamss- il ay dew odn 9.
o Ky asfasa- > wHb > B > ylRa
WHIHA
54x 104 1.77x10° 1.77x 109 1.3x 104
[oicin Qo 2iyon ifs &Nali ucin A V. A ealdal AU Auricll Abss dpeerl adl wHeri
slsdl. OH-, RO-, CH;CO0-, CI”
Guz caldal elde-u Ayou Ry Al Yo &
H,0, ROH, CH,COOH >4 HCl &. i+ »1[R&ls dead-l su HCl > CH;COOH > H,0 > ROH 9.
2l YU cldon eilhs bl 1A Horm el
CI" < CH3COO™ < OH™ < RO™
ollAoll AfMvolloll el glaelal pHoll Aacdl sHHi 20sdl. KN03(aq), CH3C00Na(aq), NH,CI
C¢H;COONH

(aq),
4(aq)
(i) KNO; ueal 2 (HNOg) v Ueldl 662 (KOH)-L auz . »usll ag odly qiael dae s 8.
{pH =7)
(i) CH;COONa [Refn 2A[4s (CHyCOOH) 2 uea a1 (NH, OH)AL iz 9. »uell do el siae ofhs
sl 9.
(i) NH,Cl [Rofa el$a (NH,OH) »i deidl »if3s (HCD-L aur 6. »uell d welld siam »i[Rks
(pH < 7) &l 9.
(iv) CgH;COONH, [Mefa 2A[s (CgH,COOH) 2 [Refn ey (NH,OH)-L &R &. uig NH,OH
CeH,COOH s3dl lal ay uea &, el pH > 7.
w12l Al ARl pH el Aedl sHML Qi -lA Yooy wsl
NH,Cl < CgH,COONH, > KNO; < CH,COONa
2HIg) = Hyq + Iy uBan w2 Ko yea 1.0 x 1074 3. Giffe 204 ulsas a©2sled wer ol
yvol ® : [HI] = 2.0 x 10 aa, [H,] = 1.0 x 10 Na aia [Lld waer 1.0 x 107 Na 8. ulza
sd [Eapi I dagd ?
e [@Aad : [HI] = 2.0 x 107 Hid
[H,] = 1.0 x 107 ¥ia
[L,] = 1.0 x 107 Hia
[lEe wd b sais Q) Hed 13 yoer saldl usiy
CH,,] (1.0 x107°) (1.0 x107°)
[HI? (2.0 x107°)?

= }Z -25x10°!

el ulbu qeis (Q)d 4ed Kl yeu sl adi 8. (Ke = 1.0 x 1074, wuell ula ulaoudl Bauui suaa
CLER
pH = - log [H*] wils2eicn 2deofui 1078 a cm™3 Aigan agaar HCl siaes] pH yea 8.0 &l

NP, uid ardlds dadisei pH 3 7.0 s2di a0y 40l . srer vl wdl.

giqeidl disdl 1078 Hld dm 3 €l dl g9 w1Q¥He & dx aa, 2uedl gaeq wellHidl wd HyOHL disaid
nalell usy -,

o [HgO'l g atlge = 108 + 107 M .

M, 54 HyOT Alsdidl 2wz pH Her ol s, w0 sideg pH 4ed 74l s 218 % 7.0 sl 2y
edl 518 5 gla@ SRRy opaud qud ©.



o oladdl Gural uid udd yed (1078 Hid dm™3) Hisdl M2 pH = 6.96 %2d HA &.
9. 0.08 @ dm™3 @riaar HOCI iRise pH 3ea 2.85 3. audilszer srAnise] yea el
w  HOCI4 pH ¥4 — 2.85
Yigd - pH = log [H*]
— 2.85 = log [H]
tl.d., 3.15 = log [H*]

»yql [HY] = 1.413 x 1073

[Mofa Hidies 2afs we 1Y) = VK, - C
DK - [H*)®  [1.413 x1077)
“taT TG 0.08

= 24957 x 107

= 2.4957 x 107°

10. uoin ifisei pH 3ea 5.0 8. au giaeisi 100 21ef eol sdi und 2Aal siaee pH 3ea S2q & ?
il pH =5
[H*] = 10 mol 1!

glagd 100 g HMe sl

1 = 9 o Tae L
100
pH = — log [H*] aMls2ai-4l Guyiol szdi,

=

pHe Y& 7.0 44 9 % asy ol % eald 9 3 gae 2lde 9,
. HHl gd aigdl = HT Gilas) + HY (wesl-w)
AHY=1074107=20x107 M
¢d, pH= - log [H*]
= - log [2.0 x 107]

=7 -0.3010 = 6.699 = 6.7
11, AR glderi 28dl JiRiellell Aigdloll JRUSRe] HERI doll giIdl JRUSIR (K, Sdi af] AR QIR AULIR
2lRo] a2 2Rl B. A BaSO,¢fl weibii sicict 8.0 x 1074 mol dm=3 & dl 0.01 mol dm=3 H,SO 4l
glidl 21el.

m  BaSO, = Bajy, + SO
v BaSOu K d 4ed = [Ba™?][SO;%] = S x 8 x S
S =8.0x 10* ¥4 dm™
K, = (8.0 x 1042 = 64 x 10°°
0.01 M H,S0,-l eisd4i,
t Ky, = (S + S +0.01)
=64 x 108 = (S) (S + 0.01)

K, = [Ba**] [SO,?]



(0.01M H,SO,4iedl 0.01M SO 2 2uu- 3l &,

. §2 + 0.01s - 64 x 1078 =

_ —0.01£(0.01)% + (4 x 64 x107%)

8d, § 5

- 001107 + (256 x 107%)
- 2

_—0.01 £ /107 1+ 256 x 107
- 2

- 0.01 £ 1072 T + 0.0256
2

1072 [£1.012719]
2

=5.0 x 1073 (- 1 + 1.012719)
= 6.4 x 10 mol dm?
i : 8§ < < < 0.01
oS+ 0.01 = 0.01 >4 64 x 1078
=S x 0.01

64 x 1078
~ 001

12. s Bt cldepdi ol SE €RAAdL A gidel A 3 B adll sdApii IRl 8. Gloal gldell Ui JiRiSel

- 6.4 x107°

Jeier] @rid . FHi giael (A)ei pH 31 6 did Boi pH 31 4.0 8. (g1 waviei pH 31 duwell.
m o oglae A pH Yed = 6 o HY = 1070 dia 171 .
m  glag B pH 3ed =4 o HY = 104 Hig L1

oid gl el nuei (1 [@ez) af @GP sl HY alsdidi 2480 4elil eud 6.

1078 + 107

+1 = — NC -1
H*] . e L
—4
- [HY] =M =5.05 x 1075 mal L1

[H*] = 5.0 x 107> Hid L1
¢d, pH = — log [H*]
pH = - log [5.0 x 107°]
s pH = - [5-6990] = - [-4.3]
o pH 4.3 24 & (s claad pH Yed 4.3 usl.
13, Al(OH); airen sicaan eusr (Kg) = 2.7 x 10711 8. aum ulifGemi Aoll grcact amell. duy gideldd
pH 3y el (Alei uzniedla en = 27 u) 8.

m AOH)L sl S 6.
AlOH), = Al + 3 OHp,,

{aq)
1 0 0
(1 -9 {8 {S)

Ruafle-l Aisdl -2 o,
m o dglad [Rs Rudladl disdl



K,, = [AI7] [OH1? = (8) (35)° = 27 §*
K _27x107"
27 27
w8 =10 x 103 e (g1
(i) AOH);l sietcn
Al(OH) 47 2iedla e = 78 M
Al(OH) -l [lal s
= 1.0 x 103 x 78 au.[a!

o8t = = 1.0 x 10712

=78 x 1072 ul.[@ 1 ey,
(i) pH-ll atadil
5 S =10 x 103 Hia (&1
[OH]=35=3x1.0x103%=30x103
pH = - log [OH]
= —log [3.0 x 1079
= - [3-4771]
=+ 3 - 0.4771
pOH = 2.5229
Yig pH + pOH = 14
s pH = 14 — pOH = 14 - 2.5229
o pH = 11.4771

14. 0.1 2 dis (ID) SARIFSe, AQua glder oicllaal wieilei S2d s€ w3 oo ? (Ksp-PbCl2 =3.2 x 1078,
Pboi umiedla en = 207 u)

w4 5 PhCLl wtaar § Ha [l @,

PbCly, = PbiZ, + 2Cly,
1-8) () (28)

K, = [Pb*?] [C[]?
t Ky, = (8] [28)* = 483

32 x 1078 = 483

_32x10°
-4

. § = 8.0 x 1077

PbCl,l sicadl PbCly, S = 2.0 x 1073 Hia (&l

PhCLL siendl (i (@ex14i) = 278 x 2 x 1073
= 0.556 a4 (4!

- 53 =08 x 1078

(PbCly, »usdly w0 = 278)
0.556 2 PhCl, »is (1) [42z weldi stioud dl

= 0.1798 [azz well o,

< 1x0.1
0.1 3y PbClymt »ildudan eep

2@ 5 PbClyrd i sia@t oirtidel 12 0.1 A PbClA 0.1798 [42z »i2a $ 0.2 (@2 welldi »{iouadl
Uil
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:NH; 1a BF; adei ulza wilser <l 2na 8 :
:NH; + BF; — H;N : BF; au ulGapii RS VA Agya vad uwisl 0vll cicudl. v WS d) s2m
Rigiciell Guad1 sl 7 ul5aslii B 1ol Noj 2isze1 s 8 ?

3
BF; Micl a4l A2l dd odl g R8s dds ad &, 5120 5 d dasgi-anl ddiam & NH,Hidl (:IiI—J
Wald 9asZidyo ddd BF, 018 Al stild & 2 SAsgin wes yel 52 8.
ubsur -l yowor saldl as.
BF; + : NH, — BF, « NH,

F H
| 1

wMdl N $asgid el [é F?'TH} & »il BE; ddsiin wdlsis 8.
H H

oAt 2R wA oo dasgin [AlRvu Reld >0 Geleza Gurell ux® usiy &, BEHL sp? dswa &
» NHuL N, sp? 2ise edid .

CaCOg,) - CaO(g + €O, uldan w2 Rl WEdl viuasi udl 8.

A H® (CaO) = - 635.1 kJ Aer!

AfH® (CO,) = - 393.5 KJ Ader!

A H® (CaCOy) = - 1206.9 kJ Aa!

Gueil ulZan w2 driicloll déiRicll IRR Riddel JRANIS Guz 20l aA ?

Ml AH® (CaOy) = — 635.1 kJ sia!

A fHe = (CO - 393.5 kJ Hia-!

20@) =
A/H® = (CaCOy) = - 1206.9 KJ !

uBEH : CaCOy = CaOg + CO,y

a & E) a
AHY = AH {CaO(S)) + AgH [COZ(g)] - AH [CaCOS(S)]

", AfHe = — 635.1 + (-393.5) - (-1206.9)

= 178.3 kJ Hia™!
AHq, 4er (4) 9. »il uBal Gueins o, d-fi2l@de Reid Yool diusi-Hl qu adl uba yisus
(Bani 2u000 qudl. 28l ddad »AAisd e qudl.



